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IRREGULAR PAST PARTICIPLES

Circle the correct past participle form given in parentheses.

1 Sheila had (brang, brought) her daughter to work a couple of times.

2. The restaurant has always (payed, paid) its employees on Fridays.

3. Dr. Morgan has (knowed, known) me all my life.

4. Professor James was sure he had (lain, laid) the exams on his desk.

5. Lisa has (went, gone) home already:

6. Lawrence had (drank, drunk) all of his Pepsi before his lunch arrived.

7 The prize-winning essay was (wrote, written) by my brother.

8. The (unshave, unshaven) man had wandered away from an assisted living facility



